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RIEE TOHER 1 [E]E 2 [a]Ef 3 [a]Ef FEIHRTHA
EF4A JEGL R (e Bz B E3= B3 25 EF= oA EF= N5z 52 JERLsR/NEE | BRI RAET | BAEIBGL] RANK
B ME— 19 10 6 -176 0 108 5 -83 2 7 26 10 7
Pk HF 0 12 20 -93 2 -132 0| -166 0 2 2 12 20
TE K 13 14 14 160 5 -39 2 247 5 12 25 14 9
Kt S&H 16 19 8 109 3 63 3 2 3 9 25 19 10
5T 0 0 0 0
B
RIEE TOHER 1 [E]E 2 [a]Ef 3 [a]Ef FEIHRTHA
EF4A JEGL R (BB B E3= B4 55 E3= B4 55 E3= JIB15L 52 JERLsR/NEE | BRI AR | BAEBGL] RANK
AKX 2 18 5 7 68 5 -7 2 -77 2 9 27 5 5
BEX EF 14 18 11 -140 0 101 5 -111 0 5 19 18] 14
FE BF 9 20 18 18 2 56 3 183 5 10 19 200 15
KA E& 13 9 12 54 3 -86 0 5 3 6 19 9 12
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EFL WEG A | SR IESE| B B BB e BB FA | IEfEA | BRI | IEGISAE |#IEIERT] RANK
5 euk 25 3 2 -33 3 -146 0 16 3 6 31 3 3
HO FH& 23 4 3 240 5 -1 31 -101 0 8 31 4 4
E.H HEY 21 15 4 -84 2 -19 2 9 2 6 27 15 6
RE EE 15 8 9 -123 0 176 5 76 5 10 25 8 8
B 0 0 0
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EF4 JBGLs [ IBfz| B EI5 oA EJ5 B4 52 E3a B4z 4L g5 /NET JEfI &5t | BAEIBESGL] RANK
BHE £l 11 6 16 -107 0 121 3 50 3 6 17 6| 17
KEN BXK 26 7 1 103 5 149 5 -61 0 10 36 7 1
EH #= 7 2 19 51 3 -34 2 60 5 10 17 2| 16
WAL F 10 13 17 -47 2 -236 0 -49 2 4 14 13 19
e 0 0 0
Es
RIEE TOHER 1 [E]E 2 [a]Ef 3 [a]Ef FEIHRTHA
EFA JEGL R [HAEIEsz] B E3= oA EF= B4 52 E3= JIB15L 52 JERLsR/NEE | BRI AR | BAE B RANK
K B2 13 11 13 48 3 -49 2 -9 3 8 21 1 11
HE B2 15 17 10 -65 2 -64 0 -70 2 4 19 17 13
| X#H 19 1 5 128 5 108 5 172 5 15 34 1 2
BA B 13 16 15 -1 0 5 3 -93 0 3 16 16 18
it 0 0 0




